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Overall QC vs iteration
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Overall QC, summary distributions
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Overall QC, summary maps
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Overall QC, bad channels
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings

@ Ring 11

Row #

Couns g

@ Ring 12 @ Ring 13
1 1 1
2 0.8 2 0.8 2 0.8
0.6 0.6 0.6
o 23 o 23 o g
g & i & &
0.4 0.4 0.4
ool 0.2 ook 0.2 ook 0.2
-20 20 0 -20 20 0 -20 20 0
Column # Column # Column #
4, - 13486.£003 MoV 4, - 130812003 MovIc”
0= 7.08 £0.02 MeVic? 0= 7102003 MeVic?
10°F 10.00 + 0.08 Mevic? 104 1, = 547.59 £ 0.79 Mevic? 10'F 1, = 54853 £ 0.79 Mevic
6,68 + 1.48 MeVic’ 0,=22.27 £ 0.89 Mevic? 0,2 2188 £ 0.91 MeVic?
10°F 3 10k 3 a0
s s
2 2
10% ERETa 3 a0k
J J
10¢ 10¢ 10¢
4 . . 4 . . . 4 . . .
0.2 0.2

0.2 0.4
m,, [GeVic?]

ijaegle@jlab.org (JLab)

0.4
m,, [GeVic?]

FCAL energy calibration QC

0.4
m,, [GeVic?]

period3

11/ 15



QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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